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FIEPERER 50 0I15E4F4E (1) AB—E%
faf KEE EFFEEE 03120
b 3] 1=K Bt 14z 241 3fiL 441 514 6 fiL 74z 8fL
100m 4/4 |/ HE 10.98/-2. 1| IIA & 11.03/-1.0| & #HEAER 11.07/-2.1|F5 Kkt 11.09/-2.1|FE @ 11.10/-1. 0| ¥ 2% 11.16/-2.1|#RR &t 11.18/-2. 1|1l s 11.19/-2.3
BRE - BEX 1B - AEX &6 - BEX dbiEE - LALLAC o - EEX EE - AKX BRE - BEX B - AEX
200m 4/4 B RE 22.29/-0.9|8| wH®iE 22.39/-0.0|F8 AN 22.53/-1.0|;BH %K 22.69/-1.0 418 $h3 22.75/-0.9|luAx [ 22.80/-1.51/NIl {£%k 22.81/-0.9| XA £ 22.89/-1.0
B - hEX BRE - BAX o - \EX REA - MK BEAR - AHX BE - ®MEE R - RIGX AR - AKX
400m 44 | BFH R 47.95|MF  KE4 48.70 |47/ #HRAR 48.85|EMAE & 49.29|KiE B3 49.69 %0 @BX 49. 93| =it Kith 50.09| KF FR 50.23
K5 - BEX &E - REAS BiE - BEX B - AKX B - AKX EE - BEK B - AKX EE - BRAX
800m 4/4 | T EFE 1:54.65(F&8 EHXK 1:55.58 |E# % 1:56.07 |#aK  Kith 1:56.46 | &XB A K 1:56.61|)IiF B4 1:57.95);I@ 3t 1:58.20 | %M@ #hiE 1:58. 46
EE - AEX K7 - AKX EE - BHEKX Ry - AKX B8 - hEX =E - TR B8 - WK Rl - AKX
1500m 4/4 |¥2@A 7 3:50.87|F@E BN 35177\ A5 FTRS 3:54.27|EFA EFA 3:57.35|&F =7 3:57.56|BEE #RA 3:57.94 | BEKX 3:58. 57| AHR % 3:59.33
WA - BEE B - RIGEE B - RIGEE B - RIGEE B - RIGEE A - #HX L5 - EREX B - RIGEE
5000m 4/4 =% Eth 14:46.32| = #EKEA 14:50.95|j&:8 %t 14:52. 24| X F EX 14:53.10| =6 R} 14:54. 43| &2 EHHE 14:56. 88 | Il 4 14:57.87|;kEH —BKB 14:58. 09
BRE-$—IX ERE-¥—IX Xy - ABXK o - EEX BRE - $—IX 1B - AMK 8 - AKX ERE-¥—IX
110mH 4/4 %k HE 14.75/-1. 2|28 B|BK 15.08/-1.2|FF EFE 15.09/-1. 2| Fith #H= 15.16/-1.2|IL T #H&E 156.19/-1. 2|45 Hth 15.33/-1.2|#@ 1% 15.45/-1.1|80 EK 15.47/-1.2
(1.067m) EE - BAKX BiR - BHX BEER - AHRK BER - AKX B1R - ARK Ko - BRAKX EE - BAKX EE - EEX
FE 400mH 4/4 |BBX  FiE 52.50| 51 EBTE 53.28;IO B&K 53.45| Bl K 53.59 | RE #if 54.90| &k 5 55.60 |8 BEEKER 55.99|#HE #HF 56. 08
(0. 914m) EE - EBRAX AR - AHEX B8 - hEX SR - EEX EE - BAX 1= - ERX B - ’iEEE &R - BERK
EEBk 4/4 |IKX B— 0| EH kig 2m05 |4 RE 00| &k 1 18 - hEX m00 | 4 BasE m5|/hE EXK 1m95 | )1l AR 1m90
& - AKX LS - ERAX B - BREX hfE BN RS - BRAX Ko - AHEX &6 - X 1B - AKX
HEk 44 |BHE R— Am80 | Ty  FHiE 4m60 | #EME fFth 4m50| e R#EZ 50 | ¥4 KF 4m20
1= - BRER 1B - AKX = - BRAX 8- BRX B - BRAX
ENEHE 44 |KE R m98/+2. 3|l Hth m82/+2.0| FF #Ht m78/+2.0|#% X m64/+0.9| TE {H—ER Tm56/+0. 8|3l IEARER m52/+0.0|/KE R m38/+1. 4iI# A m31/+1.7
HE-EVTA—Y HR-EVTO—Y b - A—917 =& -NIN BRE - AET IiEdE - FEXFEE MW - BREX B - ERX
=Bk 44 B BE 16m00/+0. 7| &R&)Il  KiE 15m81/+1. 0 [fILLEE BAX 15m39/+0. 2 |#&MA  Fith 15m09/+1. 3 |fA xR 15m00/+1. 7 |#3fE  1B%k 14m55/+1. 6 |&H KA 14m45/+0. 9 |F5E  FNiK 14m29/+0. 0
B - AET ) - BaLICT &8 - EEX 1= - ERX £E - EAX S - EEX B - AEX BRSE - AEX
Ak 4/4 \L@E E®£ 15mb2 | 'ZA Eth 14m86 | LB KiE 14m80 | tLsh  #REE 14m01 |[RE #F 12m02
(7. 260kg) LS - ARK EE - AKX & - ERAX BE - ERAX e - AKX
A% 4/4 PR Kith 43md6 |1BFE  $REK 43m31 |2 E &M 43m08 | KM 42m46 | FK 39md6 | LUA  #ith 38m27 |lLA BK 3MmI3| AT EA 32m94
(2. 000kg) R - AKX FR - AfX iR - AKX &R - AEX R - #LX 1B - AEX &R - AEX BRE - &KX
NoT—i% 4/4 |[RYE  Bhist 59m04 ;AR B2z 54m89 |EH = 51m85|#t £ KiE 50m70| X2 K A9md7 | H EE 47m55 |Be & 4Tmd3 | KA 1EiE 46m76
(7. 260kg) R - AHK A - At KR - AKX LB - AtK BE - AEXK FEL - AKX BIR - BEXK & - AEX
LY 44 s RE 68mb2 ;L HR 66m47 | T4 BARL 65m33| A b 63m17 /NIl KE 60m66 | LA Kk 5Tm05 ;A HBE 49m06 | #% B F 48m45
(0. 800kg) B - AEX LB - WX BB - WEX fEW - AEX LB - AKX 1B - AEXK R - AT XK &R - REAS
100m 4/4 |EX DHEF 12.56/ -2.5()II® #kF 12.58/ -2.5|[fR %A 12.69/ -2.5|KE AFlig 18R - AKX 12.82/ -2.5|7t@ &E 12.88/ -2.5| ARl HEE 12.90/ -2.5|Rk IE 12.92/ -2.5
= - BEX BRE - BAKX E8 - BAX BH FiE%X RB-REX 12.82/-0.9|%8M - BAX E8 - BAX B - AKX
200m 44 =K KR#2 25.45/+0.1|&Ex THEF 25.74/ 0.0|#HA #HBZE 25.80/+0.1| BE F=&E*E 25.95/+0. 11U Hi 26.03/-0.5|7% fhxE 26.35/+0. 1|#A7k BAFI 26.44/+0.1 |\ Rk IE 26.75/+0. 1
X5 - BEX 1B - BEX = - EEX R - REX R - A#tX £E - BAKX WA - X 1B - MK
400m 4/4 |Ibk BF 59.91 | &% & 60.06 | =E =ifE 60.33| AT EM 61.65| A% mMiLF 62. 14| 5 RS MWiEE 62.54 | 3@ {£% 63.88 |{REE HATE 64. 87
L5 - #%X B - %X B - BEX &BE - AEERS =BE - ®Es ERE-EREX BE - AHK BE - BRXFER
800m 4/4 | BH XRF 2:16.10| KZ%# MK 2:18.63 | IEZHE 2:19.26| K3 TEE 2:19.84 8@ E= 2:20.61|AE B 2:22.04|&F IHHE 2:22.62| L% F# 2:29.85
B - BEK A - BREX M= E: PN BE - AEERS B - AKX L5 - %X =E - ERAEES &BE - ®MEE
1500m 4/4 (A ER 4:37.94|&K FERE 4:38.52 |+ Fhk 4:43.04| 2® E£F 4:44.61|F980 ZER 4:45.00| 2 MEE 4:53.26| @h ¥E 4:55.30|IkA XTF 4:55.78
o - \Ex 1B - AKX X - EAX 1B - AKX AH - BEAK X5 - BEX REA - fRREX AR - BREX
5000m 4/4 |55 1t 16:39.19| &R = 16:55.92 | &8 B 17:57.84
B - BREX X - ERAX =R - EBAX
100mH 4/4 | BHE E® 14.97/-1.4|FIL  FEH; 15.33/-1. 4| 1Ll H# 15.39/-1. 0|48/ #% 15.88/-1.4|ithEA %% 15.99/-1.4|1frE KE 16.13/-1.4|B8%F8 AWE 17.12/-1.0| &R AR 18.57/-1.0
%7 (0. 838m) A& - BRAKX o - AfX R - AKX EE - ERAX B - AEX B[ - X RIG - RIGMOK B[ - X
400mH 4/4 |FEIL ERH 62.07|Fik &AB 62. 73|48 RTE 62.84|ithE HE 63. 17|71 T8 63.38| =41 #itx 76. 08
(0. 762m) o - X EE - ERAX e - AKX B - AHEX BE - AEX B8 - AEX
EEB 44 |EX HE 1m65 | H)Il EE 1m60 |#ril #F ERS - LXK mb5 | Bis TAax 1mb5 | & =k(d mds | Bi5 =B 1mdb | kB #H 1m40
B - BREX BX-ERAX ®E ME B - EBRAX B - AEX 1B - AMK B8 - hEX &R - AEERE
ENEHE 4/4 |FEm BERSE 6ma2/+1.7|p)Il BZE 6m18/+0. 2 |A[#t {23 6m00/+1. 4 (8BF 5m82/+2. 1 |im& £ 5m71/+1. 2| AR REF 5m68/+0. 9| AH /NBEH 5m52/+1. 8| 1T 2R HF H 5m45/+0. 8
dtimiE - dbimE N1 T IAC 1B - AHEX o - AmmER B - AHEX A& - ARK 1B - %K BEX - ERAX 1= - ERX
=Bk 4/4 |giE WE 13m04/+1. 4| =3k #& 12m89/+1.2|MEh F#E 11md9/+1.5 | " 281 Mg & 11m36/-0. 1 [;asE £ 11m15/+0. 3| 4 #FE 11m08/+1. 3| X% HBEH 10m90/+1. 7|8 UMD 10m86/+0. 9
%R - PEEK RE - BEXAC & - %K 1= - ERX A& - ARK 8- BRX B - AEX LS - B%X
Ak 44 |KBE #HX 14m61 | BER  AASE 10m98
(4. 000kg) & - BRAX 1= - ERX
Mm% 4/4 |'EX BE 2m31 | EF  EFH 38/m29 |EAR EE 34m79|ILA IEF 25mb4 | HF FE 18m98
(1. 000kg) &R - AEX 1= - ERX BEX - ERAX = - ERT RS = - AEERS
NI —% 4/4 |8 EDF 54m88 | At E#h 54mi3 | AR BE 53m72 | HN T 53m23|{fEA K FiE 52md5 | KFE #MF 48m80 ;A XA 47m35
(4. 000kg) LS AKX - AKX R - AKX £R - X KR - AKX 1B - AKX ZE-AHEX
Py 4/4 B A 53m01 |#riL HEF 39m05 |BER  RAZE 3Mm22 | shit  E=F 35m54
(0. 600kg) iR - ARXK BRE - LXK &6 - BREX 1B - AKX
57 [BAE Vi gD @ TS| E n%|E ® onio 145 tEAr 2
(6. 000kg) =E - mElE BE - AANEE =E - mElE BF - KEAS
Mm% 4/4 @ B 26m27|i%0 4 25m95
(1. 750kg) & - KEEE BF - REAS




